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1. B3 BAAT 38 %% .k £ B F) 45 2 (Coefficient of earth pressure) K, # & hdnf £ 2 K, 2
K ¢ (10 %)
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3. HyBES 2R AR AHA K - (10 %)
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5. HRATERRTTHZEELY () AFHR% 0 (b) BERER > () FEHRH® - (d) #
RMERERR  (6) Z8WELERRKR - (10%)

6. (a) What are the two parameters of soil’s shear strength?
(b) Mention the differences between these two parameters (10 %)

7. Soil having a void ratio of 0.67 as it exists in a borrow pit is to be excavated and transported to a
fill site where it will be compacted to a void ratio of 0.42. The volume of fill required is 2000
m’.

(a) Find the volume of soil that must be excavated from the borrow pit to furnish the required
~ volume of fill
(b) (b) If the water content in a borrow pit is 0.20, what is the water content in the fill site soil

after it is compacted? (15 %)
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8. For the flow net shown in the Figure, find:

(a) the quantity of seepage loss under the dam when k = 4.8 x 10_3 cm/s

- (b) the exit gradient
(c) check the safety against piping
(d) (d) the pressure distribution on the base of the dam (25 %)
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